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S =Sy cos( kx — mt)
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1= Power
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y= (Zymcos Ejsm(kx -ot+

y = (2y,sinkx)cosmt

o= n=123,.
2L

f =2 h-135..
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AL = aLAT
PV =nRT = NkT
A

AL = —
2n(p

AL = m\
AL = (m+%jx, m=0,1,2,

m=0,1,2,....

PV}/ = constant; TV7/_1 = constant

3 .
CV= 3 R for monatomic gases,
5 . .
=5 R for diatomic gases.
9
T, ==-T,~ +32

F 5 °C
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Q=mL, Q=mcAT

AE;, =Q-W

AE. =nC,AT

C,-C,=R

W = [Pdv

H=Q_atu—Te
t L

P = og AT*

2
=Y (32T

[3RT
Vims = "xs
M

Q=nc,AT, Q=nc AT

Wth'Qc

V0 O
Qu Qs w

Q _T ,AS=Id&
T T

h h

Constants:

Pi=, lambda= A

1 Liter= 10" m’

R =28.31J/mol K

N, = 6.02 x 10* molecules/mole

1 atm = 1.01 x 10° N/m’

k=138x 107 J/K

I,=10" W/m?

1 calorie = 4.186 Joule

o =5.67x10"W /(m2 K 4)

micro =107

for water: L= 80 cal/g
L, =540 cal/g
c=1cal/gK

speed of sound in air = 340m/s

a*b**C:abc






